
KS1 Maths

Karate Cats costume capers
The Karate Cats are having a Halloween party. They look 
spook-tacular in their creepy Halloween costumes!

Ninja Cat is missing… and what is that scary shadow?



KS1 Maths

Can you solve the maths puzzles below to work out what Ninja 
Cat is wearing? Use your answers to match to the correct letter.
 
Put those letters into the correct spaces to reveal the hidden 
message. The first one has been done for you.

Sumo Cat has 6 worm sweets. He gives 1 worm to 
Ginger Cat. How many does he have left? =K5

Look at the spider costume that 
Dangly Cat is wearing on the first 
page. How many legs does it have?

=I

Coach has a horrible Halloween pizza. She gives Ginger 
a quarter. How many quarters does Coach have left? =N

The cats have hung up some 
spooky decorations. There are 6 
bats and 7 skulls. Which of these 
is an odd number?

=R

There is a spider’s web hanging 
from the dojo ceiling. It is in the 
shape of a hexagon. How many 
lines of symmetry does it have?

=E

Ginger Cat is dressed as a 
skeleton. There are 20 bones 
on the costume in total. 
How many bones are on half 
of the costume?

=T

Sumo and Kicky are both 
drinking slime juice. Sumo has 
50ml of juice and Kicky has 
30ml. How much more juice 
does Sumo have than Kicky?

=F

There are 6 ghost cakes at the 
party. They are shared equally 
between Coach, Sumo and 
Ginger. How many 
cakes does 
Sumo have? =S

Coach, Dangly, Ginger, Sumo 
and Kicky all have 3 pumpkin 
cookies each. How many cookies 
are there in total?

=A
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Sumo Cat has 6 worm sweets. He gives 1 worm to 
Ginger Cat. How many does he have left? =K5

Look at the spider costume that Dangly Cat is wearing 
on the first page. How many legs does it have? =I

Coach has a horrible Halloween pizza. She gives 
Ginger a quarter. How many quarters does Coach 
have left?

=N

The cats have hung up some spooky decorations. 
There are 6 bats and 7 skulls. 
Which of these is an odd number?

=R

There is a spider’s web hanging from the dojo 
ceiling. It is in the shape of a hexagon. How many 
lines of symmetry does it have?

=E

Ginger Cat is dressed as a skeleton. 
There are 20 bones on the costume in total. 
How many bones are on half of the costume?

=T

Sumo and Kicky are both drinking 
slime juice. Sumo has 50ml of 
juice and Kicky has 30ml. How 
much more juice does Sumo have
than Kicky?

=F

There are 6 ghost cakes at the 
party. They are shared equally 
between Coach, Sumo and 
Ginger. How many 
cakes does 
Sumo have? =S

Coach, Dangly, Ginger, Sumo 
and Kicky all have 3 pumpkin 
cookies each. How many cookies 
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 Feline 
good cats!

Looking good, 
Ninja!


